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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

GROUP—A
( Marks : 28)

1. Answer the following as directed : 1x4=4
were AR Ao Tes o

(a) Economic growth is a wider concept
than economic development.

(Write True or False)

AT TFI GG TRATSF  SgTocs
o3 |
(om (1 ovm foe)
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(2)

(b) State any one problem of measuring
economic development in developing
countries.

Tae (PR SLAfeod TEEE (SR CFa©
o1 i R cerean @bt ST e 90

(c) The first economist to propound' the
theory of balance growth is Rosenstein
Rodan /Nurkse.

(Choose the correct answer)

ol AYfRI ©F SRCEE AW wILART
(2R ' TEERA IO /I |
(= Teao IR Sfersan)

(d) According to the 2011 Census, the
literacy rate of India is

0% R G T O] FrEor I TFA
(i) 74-04%
18-08%
(i) 82:14%
v 58%
(iii) 65-46%
L 8%%
(iv) None of the above

B9 oIS F=W

(Choose the correct answer)

(o= Taach! AR Tfoean)
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(3)

2. Answer the following questions (each within
50 words) : ) 2x3=6

o PTYRA ek faan (2ot ¢ o 2R f5o1®) :

(a) Define economic development.

et Tagma Az o o
(b) Write two merits of large scale industry.
2R AR Tre 61 B9 o |
(c) Give two criticisms of balance of growth
theory.
Ferefef Afand SGCOE o1 STCao= o |
3. Answer any three of the following (each
within 200 words) : 6x3=18
[ e R e fofbr Tex fim (afdeon
300 *Hq f$599) :
(a) Explain the sources of economic growth.
AT AR BAR AT T4 | '
(b) Write a note on Human Development
Index.
TR T [5IA 8RS Qo1 (BT o |

(c) Assess the role of agriculture in
economic development.

et Tamme R gfiw A w41
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(4)

(d) Mention any five merits of small scale
industrial sector in a developing
econormy.

T wAifes wu Srmel ve7 B eI
501 4T Sead ¥4 |

(e) Explain the concept of wunbalanced
growth

TS TR YISO B 31 1 |

‘GROUP—B
( Marks: 28)

4. Answer any four of the following questions
(each within 250 words) : % 7x4=28
Tl Pl R @ wRbR Tex fam (afeehn
J¢o R foev®) :

(a) Explain the concept of under-
development. Briefly describe the factors
responsible for economic development.

PRSI YRATCET IR 41 | Ffeafos T
SIS T FRIITR BILF 01 31 |
(b) What is choice of technique? Argue the

case for labour-intensive technique for a
developing economy.

e W R e WA cras
MRS @R AT IS HA9RCERT |
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(S)

(c) Explain the causes of vicious cycle of
-poverty. Give brief solutions to the
vicious cycle of poverty.

- AREOR AREET IRPHR TG 41 TS
TRGOIR IO AN ST |

(d) State and explain the interrelationship
between agricultural and industrial
development.

IR oF SeOlie TR TE SRBALC!
Teary SR [ 90

(e) Critically discuss the Lewis Model of
unlimited supply of labour.

Sifteg =iy SN @IS ST STl
RS A T

() State and explain the main contents of
backwash and spread effects of Myrdal’s
theory of circular causation.

fiq@E circular causation ©gI ‘oPBIR
ol SR o STeepTRd AR 24

Regegz Sead TR 0

* %k %
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